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And it is your money — T3

OVERVIEW

When the X3 explains how we derive Rw»1 11°00 12X from M2, the expression
used is; just as M2 is (P12 WMWY nonn and) 19, etc., the same applies to n™OR.
The same expression 711271 is used also later when the X723 derives 2"0R from WX.
mooIn explains the term 733211, which seemingly does not seem appropriate for
either 72 or wX.

mooIn explains that the term 71121 -
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Is not precise regarding 912, for the =12 is not his money, and nevertheless he is
liable for M2 P71 -
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And similarly regarding wX where the X713 also uses the term 710; it is also not
precise. For it is obvious that if he torched the grain of his neighbor with

someone else’s fire, that the one who torched will be liable. The fire need not belong
to him.

SUMMARY
712 and WX are not (necessarily) the 1172 of the P>, and still he is liable.

THINKING IT OVER
1. What does the 8713 mean then,* with the term "[Jmm'?s

2. What would be the 17 by 23 jw if it is not J1mn; someone placed another
person’s animal in his neighbor’s field and it ate or trampled the produce?®

! See “Thinking it over’ # 1.

% The 1"772 M2 does not belong to him (and the 77727 1"10OR do not belong to him) and it is not 721n7.
3 WX can be T1n; however it need not be 7117 in order to be 2m.

* See footnote # 1.

> See (1 NIX) 717 NN.

® Se Tnyn "7 2,01 9P MO and "HK.
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